

## **Jefferson County**

# Solid Waste/Air Quality Committee Friday, November 15, 2013 at 8:00 A.M. Jefferson County Courthouse – Room 203 311 S. Center Avenue, Jefferson, WI 53549

Members: Don Reese-Chair, Greg David-Vice Chair, John Kannard-Secretary, Carlton Zentner

and Greg Torres

Staff: Rob Klotz and Sharon Ehrhardt

1. Call To Order

- 2. Roll Call (Establish a Quorum)
- 3. Certification of Compliance With the Open Meetings Law
- 4. Public Comment
- 5. Review the Agenda
- 6. Approval of Minutes October 18, 2013
- 7. Communications
  - a. Thank you letter "Walworth County"
- 8. Discuss with Possible Action-Waste Management-Deer Track Park Landfill Don Smith
  - a. Landfill Update
- 9. Discuss with Possible Action-Update from Watertown Street Department Rick Schultz
- 10. Discuss with Possible Action-Update on Clean Sweep Information
  - a. Clean Sweep Summaries for September 21 and October 4
  - b. Mattress Recycling at April 12, 2014 Clean Sweep
  - c. Tire Recycling Up Date
  - d. Clean Sweep Grant Updates
  - e. Donations Update
    - (1) Fort HealthCare Update
  - f. Electronics Collections Update
  - g. Appliance Collections Update
  - h. Drug Collections Update
    - (1) Witness Burn Drug Collection December 3 and Witness Burn December 4
  - i. Dane County Out of County Cost
- 11. Update Nomination City of Watertown for "Excellence in Wisconsin Recycling Award "
- 12. Discuss with Possible Action-WIRMC (Wisconsin Integrated Resource Management Conference)
- 13. Discuss with Possible Action-AROW Product Stewardship and Educational Committee Updates Ehrhardt
- 14. Discuss with Possible Action-Carton Council Update Ehrhardt
- 15. Discuss with Possible Action-AROW Membership Renewal
- Update October 23, Sharon & Sheriff Paul Milbrath Webinar Local Drug Collections for the 2013 Water Star Wisconsin Municipal Water Management series.
- 17. Possible Action-Disaster Debris Management Updates –Ehrhardt
- 18. Update information about the Watertown Video "City of Watertown Recycling Program"
- 19. Upcoming Meeting Dates and Possible Agenda Items
  - a. November 15, 2013, Solid Waste/Air Quality Meeting Courthouse/Room 203 at 8:00 a.m.
  - b. December 20, 2013, Solid Waste/Air Quality Meeting Courthouse/Room 203 at 8:00 a.m.
  - c. January 17, 2014, Solid Waste/Air Quality Meeting Courthouse/Room 203 at 8:00 a.m.
  - d. February 26-28, 2014, WIRMC at Hyatt on Main Green By, WI
- 20. Adjourn

The Solid Waste/Air Quality Committee may discuss and/or take action on any item specifically listed on the agenda.

INDIVIDUALS REQUIRING SPECIAL ACCOMMODATIONS FOR ATTENDANCE AT THE MEETING SHOULD CONTACT THE COUNTY ADMINISTRATOR 24 HOURS PRIOR TO THE MEETING AT 920-674-7101 SO APPROPRIATE ARRANGEMENTS CAN BE MADE.



# Minutes - Jefferson County Solid Waste/Air Quality Committee Friday, October 18, 2013 at 8:00 A.M. Jefferson County Courthouse – Room 203 320 S. Main Street, Jefferson, WI 53549

#6

Members: Don Reese-Chair, Greg David-Vice Chair, John Kannard-Secretary, Carlton Zentner

and Greg Torres

Staff: Rob Klotz and Sharon Ehrhardt

#### 1. Call To Order

Meeting called to order at 8:00 a.m. by Reese.

#### 2. Roll Call (Establish a Quorum)

In attendance at 8:00 a.m. were Don Reese-Chair, John Kannard-Secretary, and Greg Torres. Guests in attendance were John Molinaro-County Board Chair, Ben Wehmeier-County Administrator and Steve Pfeiffer-Manager URT.

Greg David arrived at 8:13 a.m.

Carlton Zentner was excused.

#### 3. Certification of Compliance With the Open Meetings Law

Klotz verified that the meeting was being held in compliance with open meetings law requirements.

#### 4. Public Comment

Reese introduced Steve Pfeiffer-Manager URT (Universal Recycling Technologies)

#### 5. Review the Agenda

No changes were proposed to the agenda.

#### 6. Approval of Minutes – August 16, 2013

Motion by Torres, seconded by Kannard to approve the minutes as presented. Motion carried on a voice vote with no objection.

#### 7. Communications

WIRMC (Wisconsin Integrated Resource Management Conference); the schedule came in the mail on Thursday. Reese said to put on the November agenda for discussion.

8. **Discuss with Possible Action-Waste Management-Deer Track Park Landfill – Don Smith**Don Smith called and said he could not attend this meeting, but will be attending the November 15<sup>th</sup>
meeting.

#### a. Landfill Update

Reese said they are finishing their covering.

#### b. Estimates for Budget

Reese said that he hadn't gotten an update to the budget. Klotz said we were ok with our budget because he put in a lower amount.

9. **Discuss with Possible Action-Update from Watertown Street Department – Rick Schultz** Ixonia nominated the City of Watertown for the "Excellence in Wisconsin Recycling Award". The Committee asked Ehrhardt to send a recommendation to the DNR to choose the City and Rick Schultz for the award.

# 10. **Discuss with Possible Action-Updated Contract from URT (Universal Recycling Technologies)**Motion by Torres, seconded Kannard to approve the new URT contract for recycling e-waste and appliances. Motion carried on a voice vote with no objection.

#### 11. Discuss with Possible Action-Updated MOU Contract with Partners

Ehrhardt and Pfeifer announced that the City of Jefferson will be collecting e-waste and appliances. The Committee was given a copy of the updated MOU which included the City of Jefferson. Steve P. had an agreement for locking the container at the City of Jefferson site. The Committee said that Steve P. should forward it to the City of Jefferson for signing because it will be their responsibility to lock the container.

#### 12. Discuss with Possible Action-Update on Clean Sweep Information

a. Clean Sweep Summaries for September 21 and October 4
 Ehrhardt has not received the invoices for the two events. September 21<sup>st</sup>: 66 Participants, 1
 Farm, 4 Businesses and 61 Households. October 4<sup>th</sup>: 26 Participants were all households.
 Ehrhardt didn't get the number of residents that attended the Whitewater event.

- b. Fair Park Disposal Costs for April 13 Clean Sweep
  The disposal cost of the materials Fair Park brought to Clean Sweep was \$1,206.75. Whenever
  MIS disposes of material, the Committee pays those costs too. The county departments pay for
  the cost of lamp disposal. Terry Gard handles the lamp recycling.
- c. Clean Sweep Grant Updates
  Processed, waiting to hear from DATCP
- d. Donations Update

We had \$1,355 in donations before we sent letters and have received \$2,210 since the letters were sent in September. Total for the year is \$3,565

Fort HealthCare wants to donate something; they don't want to just write a check. Ehrhardt wanted to know how the Committee wanted her to handle the Fort donation. The Committee said she should meet with James Shulkin who is charge of the Fort donations.

e. Electronics Collections Update

Amount received from e-waste scrap for 2013 is \$11,948.36.

Total e-waste for 2013 is 222,093 pounds and the grand total to date is 2,099,210 pounds. City of Jefferson is getting a container and will be collecting electronics and appliances. Ehrhardt will have to update all brochures and posters. When Jefferson gets their container she will do a news release and photo of the site.

f. Appliance Collections Update

The total amount of pounds for 2013 is 50,589 and grand total of pounds collected is 166,250.

- g. Drug Collections Update
  - (1) Witness Burn Drug Collection December 3 and Witness Burn December 4 Sharon will be on vacation and Reese said he would cover for the Witness Burn. Mark Heal and DATCP will send notices out to all interested groups.
  - (2) Problem of overfilling of the Sheriff's Drug Container by Group Homes
    The Committee received a copy of the letter sent to the healthcare facilities. This should take care of the problem.
- 13. Discuss Update on Dodge County Clean Sweep Partnership Sharon Ehrhardt
  Dodge County would like the type of agreement that we have with Whitewater. They are still working on details. Veolia would do the billing for any Dodge County residents.
- 14. Discuss Upcoming Budget for 2014 Rob Klotz

Klotz put the budget on the video screen to review with the Committee. The revenues have stayed the same. Donations are down a little and sale of scrap materials are up. Our expenses for the year are about \$105,000 to \$110,000 and we have about \$100,000 in reserve. The Solid Waste budget doesn't change much from year to year. The program is paying for itself. Klotz told the Committee if they had any detailed questions about an item they should talk to Brian Lamers-Finance Director; he could explain it to them.

15. Discuss with Possible Action-Sharon becoming Co-Chair for the AROW Product Stewardship Committee

The AROW Board will make that decision October 22 at their Board Meeting.

Motion by Torres, seconded by David that Ehrhardt co-chair the AROW Product Stewardship Committee for one year; with Committee review after one year. Motion carried on a voice vote with no objection.

- 16. **Discuss with Possible Action October 12, Mattress & Box Spring Collection at Fair Park**They collected 7 mattresses from 3 people. They want to be at our April 12 Clean Sweep.
  The Committee asked that this be put on the November agenda to be discussed when Rick is in attendance.
- 17. **Discuss with Possible Action October 24, Meeting with Schools and Carton Council**Watertown, Fort Atkinson, Jefferson and Palmyra Eagle are going to attend the meeting. Ehrhardt is just acting as an organizer for the meeting. It will be up to each school whether they want to recycle cartons.
- 18. Discuss with Possible Action October 23, Sharon & Sheriff Paul Milbrath Webinar Local Drug Collections for the 2013 Water Star Wisconsin Municipal Water Management series.

  Ehrhardt will send the link to everyone for the webinar and also send the presentation to the Committee members.
- 19. Possible Action-Disaster Debris Management Updates Sharon Ehrhardt They have not had a meeting.

Played video. The Committee asked Ehrhardt to check if this was sent to the cable stations. The Committee asked that it be put on our website. The video should be on the vimeo.com link.

#### 21. Upcoming Meeting Dates and Possible Agenda Items

- a. October 23, 2013 Water Star Wisconsin Municipal Water Management series Webinar
- b. October 24, 2013 Carton Council Meeting City of Watertown Street Dept. at 10:00 a.m.
- c. November 15, 2013, Solid Waste/Air Quality Meeting Courthouse/Room 203 at 8:00 a.m.
- d. December 20, 2013, Solid Waste/Air Quality Meeting Courthouse/Room 203 at 8:00 a.m.

#### 22. Adjourn

Motion by David, seconded by Torres to adjourn the meeting at 9:45 a.m. Motion carried on a voice vote with no objection.

The Solid Waste/Air Quality Committee may discuss and/or take action on any item specifically listed on the agenda.

INDIVIDUALS REQUIRING SPECIAL ACCOMMODATIONS FOR ATTENDANCE AT THE MEETING SHOULD CONTACT THE COUNTY ADMINISTRATOR 24 HOURS PRIOR TO THE MEETING AT 920-674-7101 SO APPROPRIATE ARRANGEMENTS CAN BE MADE.

John Kannard, Secretary



Sharon Ehrhardt, Solid Waste/Zoning Program Assistant Jefferson County Courthouse 320 South Main Street, Room 201 Jefferson, WI 53549

Re: 2013 Walworth County Clean Sweep

**Public Works Department** 

Kevin Brunner Director of Central Services

Larry Price
Director of Operations

Peggy Watson Business Office/Purchasing Manager Dear Sharon:

We would like to thank you for the outstanding cooperation and assistance provided at the 2013 Walworth County Clean Sweep collection held at the City of Whitewater Public Works Complex on Friday, October 4.

We truly appreciated your time, input and assistance during the program planning process and implementation of this year's event. Thank you so much for soliciting and providing the survey and traffic direction staff needed at the Whitewater collection site.

We appreciated your partnership in providing this opportunity to the residents of Walworth County and Jefferson County, which has resulted in providing efficient and cost effective hazardous waste disposal services to the residents in our two counties.

As you already know, 131 vehicles were served at the Whitewater collection site; twenty six of those were Jefferson County residents. The Whitewater site collected 294 pounds of uncontrolled meds. We have not received an invoice from the hazardous waste vendor and do not know the total volume of material collected at this time, but when we receive the invoice and reports we will pass them on to you.

The 2013 Clean Sweep program was a great success due to the time, effort and assistance provided by every individual involved. Thanks for your part in making the program so successful.

Sincerely, Juna Pussell

Nancy Russell, Chair – Walworth County Board of Supervisors Kevin Brunner, Director of Central Services – Walworth County Public Works Larry Price, Director of Operations – Walworth County Public Works Janet Cline, Solid Waste Division Staff – Walworth County Public Works

W4097 County Road NN Elkhorn, WI 53121 262.741.3114 tel

262.741.3117 fax (Operations) 262.741.3195 fax (Business Office)





**TECHNICAL SOLUTIONS** 

For Billing Inquiries

Call JANE LUNDWALL at 1(262) 255-6655

Customer No. 428388

BILL TO: JEFFERSON COUNTY

320 SOUTH MAIN STREET JEFFERSON, WI 53549 SHARON EHRHARDT

Page 1 of 2

CUSTOME	R INVOICE
INVOICE DATE	INVOICE NUMBER
10/25/2013	325711750
Net 3	0 Days

Generator No. 480176

JOB SITE: JEFFERSON COUNTY CLEANSWEEP

@ JEFFERSON COUNTY FAIR PARK

503 N. JACKSON AVENUE JEFFERSON, WI 53549 SHARON EHRHARDT

MANIFEST NUMBERS:

ZZ00321975

ZZ00321973

CUSTOMER P.O. NUMBER SERVICE DATE RANGE TERR.					
(none)	(none) 09/21/2013		W20		
	DESCRIPTION	UOM	QTY	UNIT PRICE	EXTENSION
Analy.	DATCP - 9208 PCB Analysis	EACH	1.00	\$67.29	\$67.29
Material	DATCP - 9403 Personal Protective Equipment	EACH	7.00	\$41.41	\$289.87
Material	Material DATCP - 9331 Vermiculite EACH		2.00	\$18.64	\$37.28
Material	DATCP - 9321 55 Gallon Plastic Open Head Cont	EACH	24.00	\$36.24	<b>\$86</b> 9.76
Material	Material DATCP - 9319 55 Gallon Metal Open Head Contai EACH 3.00 \$36.24		\$108.72		
Manpwr	Manpwr. DATCP - 9102 On-Site Labor, Regular Personnel HOUR 5.00@5.50 \$57.98		\$1,594.45		
Manpwr	. DATCP - 9104 On-Site Labor, Project Manager	HOUR	1.00@5.50	\$62.12	\$341.66
Misc.	DATCP - 9001 Mobilization Zone 1, Non-Milk Run	EACH	7.00	\$181.18	\$1,268.26
Misc.	DATCP - 9012 Bulk (Rolloff/Tanker) Transportatio	EACH	1.00	\$310.59	<b>\$310.5</b> 9
Misc.	DATCP - 9014 Fuel Surcharge (Index - 9%)	PERCNT	1,578.85	\$0.18	<b>\$284.1</b> 9
Material	DATCP - 9305 5 Gallon Plastic Container	EACH	8.00	\$15.53	\$124.24
Material	DATCP - 9401 Polyethylene Plastic Sheeting Or E	EACH	1.00	\$47.62	\$47.62
379447	DATCP - HHW LABPACKS	LB	3,349.30	\$1.10	\$3,684.23
365944	DATCP - HHW PAINT/SOLVENTS	551A2	3.00	\$160.47	\$481.41
842967	DATCP - HHW MERCURY	LB	11.00	\$2.74	\$30.14
379449	DATCP - HHW LABPACK AEROSOL INCIN	204G	1.00	\$72.47	\$72.47
365943	DATCP - HHW LABPACKS MINIMUM	051H2	2.00	\$20.71	\$41.42
365943	DATCP - HHW LABPACKS DIOXIN	051H2	1.00	\$155.30	\$155.30
Manpwr.	DATCP - 9102 On-Site Labor, Regular Personnel	HOUR	1.00@4.00	\$57.98	\$231.92
Material	DATCP - 9327 Granular Absorbent	EACH	2.00	\$16.56	\$33.12
Material	DATCP - 9309 14 Gallon Fiberboard Container	EACH	4.00	\$25.88	\$103.52
Material	DATCP - 9317 30 Gallon Fiberboard Container	EACH	4.00	\$22.78	\$91.12
Material	DATCP - 9510 Rental 20 Yard Rolloff Box Liner	EACH	1.00	\$51.77	\$51.77
Material	DATCP - 9326 Drum Sample Kit	EACH	1.00	\$16.56	\$16.56
					** continued **

Veolia ES Technical Solutions LLC is permitted for and has capacity to accept waste listed above in container quantities.

ALL PAST DUE AMOUNTS WILL BEAR INTEREST AT 1.5% PER MONTH OR THE MAXIMUM RATE ALLOWED BY LAW, WHICHEVER IS LESS.



**TECHNICAL SOLUTIONS** 

For Billing Inquirles

Call JANE LUNDWALL at 1(262) 255-6655

Customer No. 428388

BILL TO: JEFFERSON COUNTY

320 SOUTH MAIN STREET JEFFERSON, WI 53549 SHARON EHRHARDT Page 2 of 2

CUSTOME	R INVOICE
INVOICE DATE	INVOICE NUMBER
10/25/2013	325711750
Net 3	0 Days

Generator No. 480176

JOB SITE: JEFFERSON COUNTY CLEANSWEEP

@ JEFFERSON COUNTY FAIR PARK

503 N. JACKSON AVENUE JEFFERSON, WI 53549 SHARON EHRHARDT

MANIFEST NUMBERS:

A ZZ00321975

B ZZ00321973

CUSTO	MER P.O. NUMBER SERVICE DATE RAN	GE			TERR.
{none}	09/21/2013				W20
	DESCRIPTION	UOM	QTY	UNIT PRICE	EXTENSION
310	DATCP - HHW LABPACKS-DODGE COUNTY	LB	575.70	\$1.10	\$633.27
			DATCP	SUBTOTAL	\$10,970.18
95984	NOT DATCP - HHW LEAD ACID BATTERIES	051H2	1.00	\$20.71	\$20.7
95985	NOT DATCP - HHW LITHIUM BATTERIES	LB	6.00	\$5.18	\$31.08
95986	NOT DATCP - HHW NICAD BATTERIES	051H2	1.00	\$20.71	\$20.7
365945	NOT DATCP - HHW 4' FLUORESCENT BULBS	EACH	139.00	\$0.26	\$36.14
365945	NOT DATCP - HHW COMPACT BULBS	EACH	127.00	\$0.52	\$66.04
365945	NOT DATCP - HHW HID BULBS	EACH	3.00	\$1.24	\$3.72
Material	NOT DATCP - 9305 5 Gallon Plastic Container	EACH	3.00	\$15.53	\$46.59
			NOT DATCP	SUBTOTAL	\$224.99
54467	PHARMA - HHW METERED DOSE INHALERS	051H2	3.00	\$72.47	\$217.41
37602	PHARMA - HHW NON-CS PHARMACEUTICALS	LB	642.00	\$1.60	\$1,027.20
37602	PHARMA - HHW NON-CS PHARMACEUTICALS	141G	3.00	\$72.47	\$217.4°
Material	PHARMA - 9317 30 Gallon Fiberboard Container	EACH	6.00	\$22.78	\$136.68
Material	PHARMA - 9309 14 Gallon Fiberboard Container	EACH	2.00	\$25.88	\$51.76
Material	PHARMA - 9306 5 Gallon Fiberboard Container	EACH	3.00	\$10.35	\$31.0
			PHARMA	SUBTOTAL	\$1,681.51
				TOTAL	\$12,876.6

Veolia ES Technical Solutions LLC is permitted for and has capacity to accept waste listed above in container quantities.

ALL PAST DUE AMOUNTS WILL BEAR INTEREST AT 1.5% PER MONTH OR THE MAXIMUM RATE ALLOWED BY LAW, WHICHEVER IS LESS.



**TECHNICAL SOLUTIONS** 

For Billing Inquiries

Call JANE LUNDWALL at 1(262) 255-6655

Customer No. 428388

BILL TO: JEFFERSON COUNTY

320 SOUTH MAIN STREET JEFFERSON, WI 53549 SHARON EHRHARDT Page 1 of 1

CUSTOMER INVOICE		
INVOICE DATE	INVOICE NUMBER	
10/25/2013	325015712	
Net 30 Days		

Generator No. 480176

JOB SITE: JEFFERSON COUNTY CLEANSWEEP

@ JEFFERSON COUNTY FAIR PARK

503 N. JACKSON AVENUE JEFFERSON, WI 53549 SHARON EHRHARDT

MANIFEST NUMBERS: A ZZ00321977

DESCRIPTION  DESCRIPTION  DATCP - AG LABPACKS  65942 DATCP - AG PAINT/SOLVENTS  Material DATCP - 9319 55 Gallon Metal Open Head Contai  EACH Material DATCP - 9321 55 Gallon Plastic Open Head Cont Material DATCP - 9326 Drum Sample Kit  EACH Material DATCP - 9208 PCB Analysis  EACH  EACH  EACH  EACH	207.00 1.00 1.00 1.00 1.00 1.00 DATCP	\$1.10 \$160.47 \$36.24 \$36.24 \$16.56 \$67.29	<b>W20</b> EXTENSION  \$227.7  \$160.4  \$36.2  \$36.2  \$16.5
79440 DATCP - AG LABPACKS  65942 DATCP - AG PAINT/SOLVENTS  flaterial DATCP - 9319 55 Gallon Metal Open Head Contai  EACH  Material DATCP - 9321 55 Gallon Plastic Open Head Cont  Material DATCP - 9326 Drum Sample Kit  EACH	207.00 1.00 1.00 1.00 1.00 1.00	\$1.10 \$160.47 \$36.24 \$36.24 \$16.56	<b>\$227.</b> 70 \$160.4 \$36.2 \$36.2 \$16.5
65942 DATCP - AG PAINT/SOLVENTS  Material DATCP - 9319 55 Gallon Metal Open Head Contai  EACH Material DATCP - 9321 55 Gallon Plastic Open Head Cont  Material DATCP - 9326 Drum Sample Kit  EACH	1.00 1.00 1.00 1.00 1.00	\$160.47 \$36.24 \$36.24 \$16.56	\$160.4 \$36.2 \$36.2 \$16.5
Material DATCP - 9319 55 Gallon Metal Open Head Contai  Material DATCP - 9321 55 Gallon Plastic Open Head Cont  Material DATCP - 9326 Drum Sample Kit  EACH	1.00 1.00 1.00 1.00	\$36.24 \$36.24 \$16.56	\$36.2 \$36.2 \$16.5
Material DATCP - 9321 55 Gallon Plastic Open Head Cont Material DATCP - 9326 Drum Sample Kit  EACH	1.00 1.00 1.00	\$36.24 \$16.56	\$36.24 \$16.5
Naterial DATCP - 9326 Drum Sample Kit EACH	1.00 1.00	\$16.56	\$16.5
	1.00	1	
naly. DATCP - 9208 PCB Analysis EACH		\$67.29	
	DATCP		\$67.2
	1	SUBTOTAL	\$544.5
		TOTAL	\$544.5

Veolia ES Technical Solutions LLC is permitted for and has capacity to accept waste listed above in container quantities.

ALL PAST DUE AMOUNTS WILL BEAR INTEREST AT 1.5% PER MONTH OR THE MAXIMUM RATE ALLOWED BY LAW, WHICHEVER IS LESS.





Household

Product

Med Drop

Español

Safe Product

Alternatives

# **Household Hazardous Waste Program**

Clean Sweep provides an opportunity for residents of Madison and Dane County to safely dispose of hazardous waste.

#### 2013 Collection Season

We will be opening our new facility on May 1st 2013.

Hours:

Tuesdays - Fridays: 7:00 - 2:45

Saturdays: 8:00 - 10:45

Closed Sundays, Mondays and Holidays.

We are now (as of May 1st 2013) located at 7102 US Hwy 12, Madison WI 53718, (Beltline/12/18 East toward Cambridge) across from the Yahara Hills Golf Course at the Dane County Landfill.

#### **Guidelines for Materials Brought to Clean Sweep**

Waste materials should be packaged in boxes or rigid totes to keep products upright and prevent spillage during transportation to the collection facility. Keep materials in their original containers. DO NOT PACK OR CO-MINGLE YOUR WASTE MATERIALS IN PLASTIC TRASH BAGS. Individual items may be bagged in plastic if the original container is compromised. Do not mix any materials. Upon arrival at the landfill site, follow the entrance road, drive past the scale, go directly to the Clean Sweep building, and stop under the canopy. Clean Sweep staff will greet you and direct you to the counter (inside of the walk-in door under the canopy) to collect your payment. You will be asked to furnish proof of residency. If you have items or materials that are subject to fees, you will pay at this point. Payment is to be in the form of cash or credit card (Visa or Mastercard only). No checks or currency larger than \$20 bills are accepted. After payment of fees, Clean Sweep staff will assist you in unloading your vehicle. Facility operators reserve the right to refuse any waste or material deemed unacceptable. If you are bringing gasoline or other fuels to Clean Sweep, remember to transport your fuel in an approved container (no more than 6 gal. size). Clean Sweep staff will pour off the fuels and return your container, time permitting. Unapproved or unsafe fuel containers will not be returned.

#### Fee Structure

 Dane County Households & Farms: \$10.00 per trip for all household hazardous waste and electronics. One television or computer monitor is included with the trip fee. Additional televisions and monitors will be billed at an additional \$10.00 each.  Out-of-County Households & Farms: \$75.00 per trip No latex paint or electronics accepted from out-of-county residents

Last Revised April 13, 2011

We reserve the right to impose additional fees for large quantities of materials or loads from multiple households. Customers with large loads are urged to call (608)243-0368 in advance to determine the applicability of any additional fees.

#### **Electronics**

**Electronics will be accepted from Dane County** residents/households only. Fees apply to TV's and computer monitors. NO ELECTRONICS ACCEPTED FROM BUSINESSES. All electronic materials will be responsibly handled in an environmentally safe and secure manner, using the best data wiping software available. Electronic materials accepted at Dane County Clean Sweep include: Monitors, laptops, servers, TV's, printers, computers, printer/fax/scanners, DVD players, stereo equipment, VCR's, video game consoles, computer peripherals. mice/keyboards, PDA/cell phones, all computer parts, MP3/IPods/etc., telephones, UPS batteries, copiers, typewriters, cash registers, networking equipment, and cable boxes. Also accepting radios, digital clocks, digital cameras, and remotes. ALL BATTERIES MUST BE REMOVED FROM ELECTRONIC **ITEMS.** The listing of the types of electronic materials accepted at Dane County Clean Sweep is subject to change.

#### Disposal options for common items

Although we do our best to accept as much household hazardous waste as possible, there are some things we cannot take off your hands. Click on the items below to display information regarding their disposal.

Note: If an item is in this list, it does not necessarily mean that Clean Sweep will accept it.

Clean Sweep does not accept tires, paper or cardboard products, yard waste, construction, debris, rubbish, glass, solid metals, solid waste, appliances, etc. Contact your local official, trash hauler, or private recycler for details.

Please click on the item of interest to learn about its proper disposal. Your disposal instructions will appear in the disposal instructions box beneath the list.

Aerosol cans
Acids and Bases
Asbestos
Ammunition
Antifreeze and oil filters
Batteries
Ballasts
Brake, transmission, power steering fluid
Computers
Cooking oil
Driveway sealer -- Solvent-based (tar, asphalt)
Electronics
Explosives, and fireworks
Fertilizer
Fire extinguishers
Flammable solvents, fuels and aerosols
Electronics
Electronics

#### **Disposal Instructions**

Take to: Office Depot, Staples, Office Max or other cartridge recycling location

Dane County Home Page
Dane County Public Works

City of Madison Home Page Public Health Madison Dane County



#### JEFFERSON COUNTY BOARD

Jefferson County Courthouse 311 S. Center Avenue Room 204 A Jefferson, WI 53549 Telephone (920) 674-8607 JOHN M. MOLINARO
County Board
Chairman

Re: Excellence in Wisconsin Recycling Award Nomination

City of Watertown

Jefferson County and the Solid Waste/Air Quality Committee is nominating The City of Watertown for the "Excellence in Wisconsin Recycling: Overall Program Award". We recognize that the City of Watertown is committed to work with their community and county in reducing waste and increase recycling options for their residents and businesses. Jefferson County has been working with City of Watertown since 2000 when we hosted the first Clean Sweep together. We work closely with their Street Superintendent Rick Schultz, and because of his dedication and initiatives to reducing waste, increase recycling and proper disposal methods he has been a valuable asset and resource to our programs. Watertown has increased their recycling to 26 tons a week from 13 tons a week. They also decrease their landfill waste in half.

Watertown was the first city to host a continuous yearly Clean Sweep, the first city to partner with a business to recycle carpeting and then open it up to all of Jefferson County. They were the first city to have an electronics (e-waste) site, and the first to add appliances to their site and again, making it available to all Jefferson County residents. Watertown is the first city to have mattresses and box springs recycling, and possibly in the future, may open it up to other county communities. Watertown is looking into recycling upholstered furniture in the future. They also recycle oil, oil filters, brush/grass clippings, porcelain, and have a pilot program for recycling organics. The porcelain that comes from toilets, sinks and bathtubs are ground up and used in the road ways. This reduces the amount of natural gravel they have to purchase and helps preserve our natural resources.

The City of Watertown supported the Watertown Police Department in opening a drug collection site at the Police Department. The local hospital paid for the collection container, and the local pharmacists volunteer their time to sort the drugs.

Watertown is always looking for ways to improve recycling by finding news items to recycle, and at the time reduce waste stream costs. The Watertown community knows how to work together and give their residents and businesses great opportunities to recycle which improves the safety and the environment. Jefferson County is proud to be a Watertown partner in recycling.

Sincerely,

John Molinaro, Chairperson Jefferson County Board of Supervisors Donald Reese, Chairperson Solid Waste/Air Quality Committee









#12

### 2014 Schedule at a Glance

as of 10.10.13

#### Wednesday, February 26

11:00 AM - 7:00	OPM Conference Registration / Check-In
7:30 AM - 12:1	5 PM Tour: C&D and Single Stream MRF's
2:00 - 3:30 PM	SWANA Board Meeting
3:30 - 4:30	WCSWMA Annual Meeting
<b>*</b> 4:15 ~ 5:45	AROW Annual Meeting
	~ Dinner On Your Own ~
5:45 - 6:30	SWANA's Young Professional's Reception
6:30 - 9:00	Welcoming Event: Enjoy light hors d'oeuvres, beverages, music and gan

#### Thursday, February 27

7:30 AM - 4:00 PM	Conference Registration / Check-In
7:30 - 8:30 AM	Hot Breakfast Buffet
8:30 - 9:45	NEW! Exhibit Hall Opening Event: Refreshments! Prizes! Must be present to win!
10:00 - 10:50	WELCOME & OPENING KEYNOTE: "Top 10 Reasons the EPA Appreciates the
	Materials Management Industry" - Dr. Susan Hedman, Region 5
11:00 - 12:00 noon	Track Sessions I (see page 2)
12:15 - 1:15 PM	Lunch, AROW Awards & SWANA Scholarships
1:15 - 2:15	Dessert Reception: Complimentary refreshments served in the Exhibit Hall
2:15 - 3:15	Track Sessions II (see page 2)
3:15 - 3:30	Break
3:30 - 4:45	Track Sessions III (see page 2)
5:00 - 6:30	Exhibitor's Reception: Complimentary refreshments served in the Exhibit Hall
7:00 - 11:00	Vendor Hospitality Suites

#### Friday, February 28

7:30 - 10:30 AM	Conference Registration / Check-In
7:30 - 8:30	Hot Breakfast Buffet
8:30 - 9:30	Track Sessions IV (see page 2)
9:40 - 10:40	Track Sessions V (see page 2)
10:40 - 11:00	Break & Hotel Check Out
11:00 ~ 12:00 noon	CLOSING KEYNOTE: "Life Lessons from the Trail" - Jeff Alt
12:00 - 12:30 PM	Door Prizes: Must be present to win!

Sharon Plans to attend \* Sessions

#### 2014 WIRMC Track Sessions\* (As of 10.10.13)

#### Thursday, February 27, 2014

11:00 - 12:00 Track Sessions I

Pioneering Mattress Recycling in Wisconsin Bob Mudler, Midwest Mattress Recovery, LLC

- Aerobic Digestion and Leachate Cut Costs and Boost Sustainability Richard Aho, EWS, LLC
- Green Incentive Programs Better Environment, Better Business!
   TBD

Need CEU credits?
Solid Waste Professionals, including
Professional Engineers, can gain
credits by attending WIRMC
presentations.

Questions??? Contact: Brenda Quinnell at 608-369-0701

2:15 - 3:15 Track Sessions H

School Carton Recycling Panel – Taking Center Stage in Caring for the Environment
 Debbi Dodson, Carton Council; Tracy Romzek, Outagamie County Parent; Meribeth Sullivan, Waukesha County

 Alternative Daily Cover Demonstration of Posi-Shell ADC David Webster, Recovery Systems Company

 Landfill Gas (LFG) Basics: Managing & Repairing LFG Header Pipes at Older Landfills / Understanding LFG Data and LFG Extraction Systems Diagnostics: 101
 Michael Amstadt and Roxanne Wienkes, TRC Environmental Corporation

3:30 - 4:45 Track Sessions III

\* Taking on Food Scraps:

- Food Wastage Through the Food Chain Jonathan Rivin, UW-Extension

- Tackling the Food Scraps Challenge - City of Milwaukee and InSinkErator Clean Kitchen Green Community Project

Rick Meyers & Becky Curtis, City of Milwaukee; Kendall Christiansen, Gaia Strategies

Are Your Markets Really Stuck on the Proverbial "Green Fence?": A Market Update
Dave Keeling, Steel Institute, Patty Moore, Moore Recycling Associates;
Jim Birmingham, Pioneer Recycling International; Dan McClenahan, Strategic Materials

Collaboration in Developing p-BACT for Formaldehyde Emissions in Landfill Gas Engines Meleesa Johnson, Marathon County; John Welch, Dane County; Ray Ramos, Cornerstone EG Flare Design Standards and Factory Emission Test Case Study Chris Lawn, Pure Element Resources; Lance Roberts, ABUTEC

#### Friday, February 28, 2014

8:30 - 9:30 Track Sessions IV

Sustainable Meetings & Events

Justin Dall'Osto & Joe Liebau, Jr., WasteCap Resource Solutions

Wisconsin Clean Sweep: Program Data Analysis & Updates
 John Katers & Brian Yagle, UW-Green Bay;
 Jane Hewston Larson, WI Dept. of Agriculture, Trade and Consumer Protection

BOW - Strategic Plan for Waste Resource Management

Andy Nickodem, Golder Associates, Inc. & others TBA

9:40 - 10:40 Track Sessions V

Revitalizing the Way We Recycle Packaging and Paper in America Paul Gardner, Recycling Reinvented

Biomass Opportunities in Wisconsin

Andrew Dane, Short Elliot Hendrickson (SEH), Inc.; Don Peterson, Renewable Resource Solutions

The Rock at Crystal Ridge...

Evan Nickodem, McClure Engineering Associates, Inc., Sean Hayes, Milwaukee County

\*Track sessions subject to changes\*

# RENEW Your Membership NOW!

# Membership renewal is quick and easy!

#### Renew ONLINE and:



- Pay by check or credit card

- Generate invoice or receipt at time of registration

Same Membership Rates for 2014. Enjoy!

RENEW <u>by</u> Feb. 1st, 2014 to continue your member benefits!

Go to www.arow-online.org/join.html
2014 Membership Renewal site opens November 1, 2013

This is your only print reminder. Further communications via email. Instructions for renewal can be found at the web page listed above.